
 DEORE XT Brake Lever

BL-M785   For Disc Brake

BL
-T

78
5

BL
-M

98
8

BL
-M

66
6

BL
-T

78
5

BL
-M

98
8

BL
-M

66
6

1 Y8VC98010 Bleed Screw (M5 x 4.7) & O-Ring B A
* 2 Y8VC98050 Lid Fixing Bolt (M3) 2 pcs. A A
* Y8VC04000 R.H. Lid B A
* Y8VC04010 L.H. Lid B A
* 4 Y8VC98060 Separator Unit A A

5 Y8VC05000 Lever Axle ø5
6 Y8VC98020 Stroke Adjust Screw (M4 x 12) & Plate

Y8VC98030 R.H. Lever Member Unit
Y8VC98040 L.H. Lever Member Unit

8 Y8V398040 Lever Axle Fixing Bolt & Cap A
9 Y8VC10000 Clamp Bolt (M5 x 18) A A
10 ESMDISCBP Funnel & Oil Stopper A A A

A: Same parts. Dec.-2011-3158A
© Shimano Inc. I

Absence of mark indicates non-interchangeability.

Specifications are subject to change without notice.

B: Parts are usable, but differ in materirals, appearance, finish, size, etc.

CODE NO.
SHIMANO ITEM

NO. DESCRIPTION

BL
-T

78
5

7

INTERCHANGE-
ABILITY

BL
-M

98
8

BL
-M

66
6

3

1

2

5

6

7

8

9

3

4

10


